AIR SPRINGS

Diagrams and Specifications for the Identification of
Genuine Hendrickson® Air Springs.

PUB 211-HAS-501 ¥Part:




EH:JLHENDBIGKSON Dayton Parts, LLC

/

HHENDRICKSON

GENUINE Hendrickson Components

Types of Air Springs

Combo Stud /

Blind < AirFittin
Mountin k U ’ \
g E—\
\ —\ Bead Plate ———»
" ‘ Girdle
H
—— Bellows \ Rg?api’ner
Rebound
. Bumper
Typical R Type <——— Piston

Rolling Lobe Desi
olling Lobe Design Typical 2C/3C Type

Convoluted Design

Mounting Identification

Standard Bolt or Stud Combination Stud / Tapped Hole Air Fitting
Air Fitting (Blind Nut)
Bead —_— Bead Bead Bead
Plati — . Plati ﬁ PIati @ Plati @
G = G Gg_  G=

. Bolt or Stud 1/2-13 G Threaded Hole — 3/8-16 on Bead Plate, 1/2-13 on Piston
@ Air Inlet 1/4 NPT Combination Stud/Air Inlet — OD Thread 3/4-16, ID Thread 1/4 NPT
@ As Noted on Drawing

The names and reference numbers of manufacturers and suppliers, other than Dayton Parts, LLC, used in this
catalog are shown only to assist our customers in identifying replacement parts. Although care has been taken
to ensure the accuracy of the data contained in this publication, Dayton Parts, LLC does not assume any liability
for errors or omissions.

© Copyright 2001, Dayton Parts, LLC, all rights reserved. No part of this publication covered by the copyrights Partsm
hereon may be reproduced or copied in any form or by any means whatsoever without the expressed prior
written permission of Dayton Parts, LLC



Dayton Parts, LLC HHE"DBIGKS“"

»

11.31

S-12353

g

7.90
Collapsed

Collapsed

11.31

R - Rolling Lobe

4.80
Collapsed

3C - Triple Convolute

Determining Proper Replacement Air Springs
1) Type and Dimension

. Determine type of air spring - reference drawings above.

Determine number of top plate features (studs, holes, fittings).
Determine number of piston/bottom plate features (studs, holes, fittings).
. Determine top plate diameter.

Determine piston/bottom plate diameter at widest point.
Compress air spring to contact with internal bumper and measure the overall height.

Refer to charts on page 3 and 4, be sure to note the remarks, as many air springs require this
information to differentuate them.

h. Confirm your selection using reference drawings provided beginning on page 7.

@roo0OoTw

Note: Reference drawings are in the same sequence as the charts on pages 4 and 5.

2) Application

a. Refer to model application chart on page 6.
b. Locate reference drawing and confirm dimensional information.

Note: Similar air spring reference drawings are grouped together.

3) Part Number

a. Molded into the Original Equipment air spring, the part number is generally located just below
the Hendrickson logo.

b. Locate reference drawing using the numerical listing on page 20.
c. Confirm dimensional information.



EH:JLHENDBIGKSON Dayton Parts, LLC

Hendrickson Air Springs - Parts Listing by Dimensions
Top plate |Bottom Plate/

Part Stud/Hole | Piston Stud/ | Top Plate | Bottom Plate/ | Collapsed Page

No. Type No. Hole No. | Diameter | Piston Dia. Height Remarks No.
57965-002L R 1 1 6.31 7.25 5.00 7
57920-002L R 1 1 6.31 7.25 5.00 57965-002L w/ Bracket 7
C-25559 R 1 4 9.00 9.50 5.60 S/A S-20010 7
S-20010 R 1 4 9.00 9.50 5.60 S/A C-25559 7
S-20414 R 1 4 9.00 9.50 7.30 7
S-20223 R 1 4 9.00 9.75 5.40 7
S-20716 R 1 4 9.00 11.06 7.30 20.75 Extended 7
S-20217 R 1 4 9.00 11.06 7.30 21.75 Extended 7
S-20124 R 1 4 9.00 11.06 7.30 24.75 Extended 7
S-20413 R 1 4 9.00 11.06 7.30 S/A S-20217 w/ Piston Rotated 45° 7
S-20127 R 1 4 10.38 10.75 7.30 8
S-2394 R 2 1 6.31 7.00 3.20 8
59484-002L R 2 1 9.00 9.50 4.06 8
56808-002L R 2 1 9.00 9.50 4.60 w/ Bracket 8
57140-002L R 2 1 9.00 9.50 4.60 w/ Bracket, LH 8
57150-002L R 2 1 9.00 9.50 4.60 w/ Bracket, RH 8
S-2064 R 2 1 9.00 9.50 4.80 Can Use S-11650 8
56917-002L R 2 1 9.00 9.50 5.98 w/ Bracket, ¥4” NPT Inlet + %2” Stud Top 8
59601-002L R 2 1 9.00 9.50 5.98 Combo Stud + ¥2” Stud Top 8
59031-002L R 2 1 9.00 9.50 6.27 w/ 3 Hole Bracket 8
58541-002L R 2 1 9.00 9.50 6.27 w/ 2 Hole Bracket 9
59010-002L R 2 1 9.00 9.50 7.63 w/ Bracket 9
59861-002L R 2 1 9.00 9.50 8.14 w/ Bracket 9
58995-002L R 2 1 9.00 10.00 7.63 w/ Bracket, 20” Extended 9
57122-002L R 2 1 9.00 10.00 7.63 w/ Bracket, 22" Extended 9
59055-002L R 2 1 9.00 10.00 7.63 5.50 Top Stud Spacing, Metric 9
58817-002L R 2 1 9.00 10.00 7.63 6.20 Top Stud Spacing, Metric 9
58520-002L R 2 1 9.00 10.00 7.63 S/A 58995-002L w/ Metric Studs 9
50898-002L R 2 1 9.00 10.00 8.14 w/ Bracket 9
50899-002L R 2 1 9.00 10.00 8.14 50898-002L w/ Mack Bracket (OEM Only, Use 50898-002L) | N/A
60666-002L R 2 1 9.00 10.00 8.14 S/A 50898-002L w/ Metric Studs 9
S-23720 R 2 1 9.00 10.25 7.40 20.75 Extended, 9” Dia. Flex Member 10
S-23721 R 2 1 9.00 10.25 7.40 20.75 Extended, 10” Dia. Flex Member 10
S-23613 R 2 1 9.00 10.25 7.40 24.75 Extended, 9” Dia. Flex Member 10
S-23611 R 2 1 9.00 10.25 7.40 24.50 Extended, 13" Dia. Flex Member 10
S-23612 R 2 1 9.00 10.25 9.20 27.50 Extended 10
S-23614 R 2 1 9.00 10.25 9.20 28.75 Extended 10
S-21800 R 2 1 10.38 9.18 6.00 10
S-20900 R 2 1 10.38 9.18 6.00 R/B S-21800 10
S-21966 R 2 1 10.38 9.18 8.00 1.56 Lg. Top Studs 10
S-22948 R 2 1 10.38 9.18 8.00 2.50 Lg. Top Studs 10
S-20901 R 2 1 11.31 10.13 5.10 19” Extended, 10.63 Dia. Flex Member 11
S-25873 R 2 1 11.31 10.13 5.10 11.63 Dia. Flex Member 11
S-21784 R 2 1 11.31 10.13 5.10 S/A S-20901 w/ Piston Support Disk 11
S-24443 R 2 1 11.31 10.13 8.00 S/A S-23748 w/ Piston Support Disk 11
C-23748 R 2 1 11.31 10.13 8.00 11
S-14147 R 2 2 9.00 9.25 4.50 Do Not remove top Retaining Strap 11
S-7364 R 2 2 9.00 9.50 6.00 11
S-7193 R 2 2 9.00 9.50 6.40 11
49048-002L R 2 2 9.00 10.00 8.21 Combo Stud + ¥2” Stud Top 11
50405-002L R 2 2 9.00 10.00 8.22 w/ bracket, ¥4” NPT Inlet + 2" Stud Top 11
S-11650 R 2 3 9.00 9.50 4.80 S/A S-2064 w/ Threaded Holes In Piston 12
S-3411 R 2 4 9.00 9.38 7.30 12
S-2827 R 2 4 9.00 9.50 7.10 S/A S-11566 w/ 4 Hole Piston 12
S-1245 R 2 4 9.00 9.75 6.10 12
S-4773 R 2 4 9.00 10.13 9.50 5.50 Top Stud Spacing 12
S-10352 R 2 4 9.00 10.13 9.50 6.20 Top Stud Spacing 12
S-12353 R 2 4 9.00 10.25 7.90 12
S-6195 R 2 4 9.00 10.25 8.00 5.50 Top Stud Spacing 12
S-2066 R 2 4 9.00 10.25 8.00 5.50 Top Stud Spacing, S/A S-6195 w/ Piston Rotated 45° 12
S-2694 R 2 4 9.00 10.25 8.00 6.20 Top Stud Spacing, 1.56 Lg Studs Top 12
S-2924 R 2 4 9.00 10.25 8.00 6.20 Top Stud Spacing, 1.35 Lg Studs Top 13
S-3842 R 2 4 9.00 10.25 9.20 5.50 Top Stud Spacing 13
S-14249 R 2 4 9.00 10.25 9.20 6.20 Top Stud Spacing, S/A S-4375 13
S-4375 R 2 4 9.00 10.25 9.20 6.20 Top Stud Spacing, S/A S-14249 13

4



Dayton Parts, LLC HHE"DBIGKS“"

Hendrickson Air Springs - Parts Listing by Dimensions
Top plate |Bottom Plate/

Part Stud/Hole | Piston Stud/ | Top Plate | Bottom Plate/ | Collapsed Page

No. Type No. Hole No. | Diameter | Piston Dia. Height Remarks No.
S-8988 R 2 4 9.00 10.25 10.10 13
S-22045 R 2 4 10.38 8.43 7.30 13
S-22046 R 2 4 10.38 9.38 7.30 13
S-22697 R 2 4 10.38 9.50 11.50 13
S-25871 R 2 4 10.38 10.25 8.20 13
S-3830 R 2 4 10.38 10.25 8.90 13
S-25872 R 2 4 10.38 10.25 9.50 14
S-3467 R 2 4 11.31 10.25 8.90 27.25 Extended 14
S-22173 R 2 4 11.31 10.25 8.90 28.25 Extended 14
S-13122 R 2 4 11.31 10.25 10.10 14
S-4771 R 2 4 11.31 11.50 5.80 14
S-9001 R 2 4 11.31 11.80 5.70 14
S-24445 R 2 4 11.38 10.25 8.20 14
S-24446 R 2 4 11.38 10.25 9.50 14
S-25319 R 2 4 11.38 11.13 7.50 14
S-11566 R 2 5 9.00 9.50 7.10 S/A S-2827 w/ 5 Hole Piston; 14

Reuse Existing Stud / Remove Bolt Before Installation
S-21208 R 3 4 9.00 9.50 5.60 15
S-2065 R 5 4 11.31 10.25 7.30 15
S-2063 R 5 4 11.31 10.25 8.90 15
S-3648 R 5 4 11.31 11.81 5.60 (4) %" Holes + 4" NPT Inlet Top 15
S-3839 R 5 4 11.31 11.81 5.70 (4) V2" Studs + ¥4” NPT Inlet Top 15
002878 2C 1 2 6.31 6.31 3.00 S/A S-23114 15
S-23114 2C 1 2 6.31 6.31 3.00 S/A 002878 15
B-14486 2C 1 2 6.31 6.31 3.00 Heavy Duty 15
003317 2C 1 2 6.31 6.31 3.00 S/A B-14486 w/ Metric Attachment 15
S-21323 2C 2 2 6.40 6.40 3.80 15
S-1345 2C 2 2 9.00 9.00 3.00 Combo Stud + %" Hole Top, 1.57 Lg Stud 16
S-12335 2C 2 2 9.00 9.00 3.12 Combo Stud + %" Hole Top, 1.35 Lg Stud 16
S-5468 2C 2 2 9.00 9.00 3.50 Combo Stud + ¥s” Hole Top 16
001796 2C 2 2 9.00 9.00 3.60 Combo Stud + %2” Stud Top, Bottom Holes Perpendicular 16
S-3798 2C 2 2 9.00 9.00 3.70 Combo Stud + %2” Stud Top, Bottom Holes Parallel 16
S-6242 2C 2 2 9.00 9.00 3.70 Combo Stud + 3" Hole Top 16
B-1159 2C 2 2 9.00 9.00 4.20 Combo Stud + ¥8” Hole Top, 1.35 Lg. Stud 16
001475 2C 2 2 9.00 9.00 4.20 Combo Stud + 8" Hole Top, 1.57 Lg. Stud 16
S-10170 2C 2 2 9.00 9.00 4.20 Combo Stud + V2" Stud Top, Bottom Holes Perpendicular 16
001503 2C 2 4 9.00 9.00 3.70 16
S-6412 2C 2 4 11.31 11.31 4.80 17
001347 2C 3 1 531 5.31 3.00 17
B-14395 2C 3 2 531 5.31 3.00 17
S-8768 2C 3 2 6.31 6.31 3.00 Offset Inlet Top 17
B-14318 2C 3 2 6.31 6.31 3.50 17
003318 2C 3 2 6.31 6.31 3.60 Metric 17
B-2630 2C 3 2 6.31 6.31 4.00 %" Holes +%4” NPT Inlet Top 17
S-5270 2C 3 2 6.31 6.31 4.10 2" Studs + 4" NPT Inlet Top 17
45843-001L | 2C 3 2 6.31 6.31 4.10 R/B S-5270 17
B-8701 2C 3 2 6.31 6.31 4.80 17
S-9830 2C 3 2 9.00 9.00 3.70 18
S-1013 2C 3 2 9.00 9.00 4.10 18
S-1080 2C 5 4 11.31 11.31 3.80 %" Holes + ¥4” NPT Inlet Top, 11.25 Extended 18
S-2734 2C 5 4 11.31 11.31 3.80 %" Holes+V4” NPT Inlet Top, 15.25 Extended 18
S-3184 2C 5 4 11.31 11.31 3.80 V2" Studs+%4” NPT Inlet Top 18
B-11637 3C 2 2 9.00 9.00 4.60 Combo Stud+3” Hole Top, Bottom Holes Parallel 18
B-12405 3C 2 2 9.00 9.00 4.60 Combo Stud+3s” Hole Top, Bottom Holes Perpendicular 18
003316 3C 2 4 9.00 9.00 4.50 Metric 18
B-14487 3C 2 4 9.00 9.00 4.60 18
001015 3C 2 4 10.38 10.38 4.60 %" Holes Bottom 6.20 Bolt Circle 18
001795 3C 2 4 11.31 11.31 4.00 %" Holes Bottom 8.84 Bolt Circle 19
B-7100 3C 2 4 11.31 11.31 4.80 6.25 Stud Spacing Bottom 19
B-7853 3C 2 4 11.31 11.31 4.80 6.25 Stud Spacing Bottom, S/A B-7100 19
w/ Bottom Rotated 45°

B-8874 3C 2 4 11.31 11.31 6.30 5.56 Stud Spacing Bottom 19
002348 3C 3 4 10.38 10.38 4.60 19
S-6861 3C 5 4 11.31 11.31 4.80 19




EH:JLHENDBIGKSON Dayton Parts, LLC

Hendrickson Air Springs - Parts Listing by Application Hendrickson Air Springs - Parts Listing by Application
Part Suspension Page Part Suspension Page
No. Model/Type No. No. Model/Type No.

S-21800 AA200, AA230, HIK, HKA180 10 001796 HLUH 16
S-21966 AA200, AA230, KIK, HKA200 10 002878 HLUR 15
S-23613 AA230L 10 59484-002L HPS-146 8
S-23614 AA230L 10 59601-002L HPS-146 8
S-23720 AA230L 10 S-20124 HS250U, HT250T, HT250U, HT250US 7
S-20901 AA250, HKA250 11 B-14249 HT-250U 13
S-21784 AA250, HKA250 11 S-22697 HT200UAM, HK200M 13
S-23611 AA250L 10 S-20127 HT250T, HT250US 8
S-23612 AA250L 10 S-20414 HT250U, HT250US 7
S-23721 AA250L 10 S-20716 HT250U, HT250US 7
S-24446 AA300EDL 14 S-22173 HT300U 14
S-25319 AA300EDL 14 S-3830 HT300U, T 13
S-25871 AA300L 13 S-6242 HTCL 16
S-25872 AA300L 14 S-21323 HTHL 15
S-25873 AA300T 11 S-20900 Intraax AA230 (8/97 and up) 10
B-1159 AB, LD 16 S-10170 LD 16
45843-001L AR 17 S-3798 LD 16
S-7364 cC 11 B-8701 Lift Axle 17
S-1345 CL, HTBL, VCL, T, TMB 16 003316 Lift Axle - Metric 18
S-1080 CL, T 18 003317 Lift Axle - Metric 15
S-2734 CL, T 18 003318 Lift Axle - Metric 17
49048-002L HA 360/400/460 11 B-2630 MTL, Steerable Lift, HLR 17
50405-002L HA 360/400/460 11 002348 Steerable Lift Axle 19
57965-002L HAS 7 B-11637 Steerable Lift Axle 18
60666-002L HAS 9 B-12405 Steerable Lift Axle 18
59055-002L HAS - Metric 9 B-14318 Steerable Lift Axle 17
58817-002L HAS - Metric 150/190/210/230 9 B-7100 Steerable Lift Axle 19
57920-002L HAS 120/150L 7 B-7853 Steerable Lift Axle 19
56808-002L HAS 120L/190L 8 001503 Super C Dolly 16
58541-002L HAS 190/210/230L 9 S-1013 T 18
59010-002L HAS 190/210/230L 9 S-11566 T 14
57140-002L HAS 190L (L/H) GMC 8 S-2063 T 15
57150-002L HAS 190L (R/H) GMC 8 S-2394 T 8
58520-002L HAS 210/230/400/460 9 S-2694 T 12
57122-002L HAS 360/400/460 9 S-2924 T 13
50898-002L HAS 40LH 9 S-3184 T 18
50899-002L HAS 40LH (Mack Only) Use 50898-002L N/A S-3467 T 14
58995-002L HAS 460 9 S-6412 T 17
56917-002L HAS ALL (Low Profile) 8 S-6861 T 19
59031-002L HAS Bluebird 8 S-8768 T 17
59861-002L HAS Bluebird 9 S-8988 T 13
S-20223 HC190T, HF190T, HS190T, HT190T, HTDolly 7 S-9001 T 14
S-20217 HC190T, HF190U, HS190U, HT190U, HTDolly 7 S-9830 T 18
C-25559 HC230, HF230, HS230, HT230, HTDolly, 7 S-1245 T 12

HT250US B-8874 T 19
S-20010 HC230, HF230, HS230, HT230, HTDolly, 7 S-2066 T, MB, T23-US 12

HT250US S-6195 T, 723, TMB 12
S-13122 HC250U, HS250U, HT250U, HTDolly 14 S-12353 T, T23-US 12
S-3648 HC300, HS300, HT300, T, T23-RL 15 S-2064 T, TDC 8
S-3839 HC300, HS300, HT300, T, T23-RL 15 S-2065 T, TDC 15
S-4771 HC300, HS300, HT300, T, T23-RL 14 S-11650 T, TMB 12
S-21208 HC3230, HT230 15 S-4375 T, TMB 13
S-22045 HK190T 13 S-4773 T, TMB 12
S-20413 HK200U, HT250U, HT250US 7 S-5270 T, TMB 17
S-22046 HK230 13 S-2827 T, TMB, T23-US 12
S-22948 HKA180 10 S-10352 T23-US 12
C-23748 HKA250 11 S-3411 T23-US 12
S-24443 HKA250 11 S-3842 T23-US 13
S-24445 HKA250 14 S-14147 TL 11
B-14486 HLP (Lift Axle) 15 S-7193 TL 11
B-14487 HLP (Lift Axle) 18 S-5468 TMB 16
001347 HLP (Lift Axle) - 20K 17 S-23114 UBL 15
001015 HLP (Lift Axle) - Trailer 18 B-14395 VBL 17
001475 HLQ 16 S-12335 VCL, HTBL 16
001795 HLUH 19

6



Dayton Parts, LLC

HHENDRIGKSON

97965-002L

Collapsed

| 7.25 |

<

B

»

S-20223

3.75
9.75

9.00

5.40
Collapsed

»!

|

Note: Air Spring without

8 “ bracket‘- see 57965-002L O} Y
y
S-20716 ©
57920-002L ) 5 812
o3 © :
Q
5 3 A y
 |© y ]
o «, 3
TrE Ja
\ 4 A
A vy R
@ A
A
S +
o 7o) [te)
C-25559 2 = o
=153
o g Y
wi=
o
o
- A
A
g 3
® -
8 g A 4
A
@ @ A
N ) r °
S + o
el o
$-20010 -3 $-20124 e g
() o [So X
Te] % ~ § J’
o

4.11

e

S-20414

7.3
Collapsed

5.68

9.00

Collapsed
>

11.06

A,

@ Boltor Stud 1/2-13

4 Threaded Hole — 3/8 on Bead Plate, 1/2-13 on Piston

& Air Inlet 1/4 NPT

Combination Stud/Air Inlet — OD Thread 3/4-16, ID Thread 1/4 NPT € As Noted on Drawing



EH:JLHENDBIGKSON Dayton Parts,LLC

B A — > 148 Note: 57140-002L
’@ a\ 7y Left Hand Assembly
3 57150-002L
s 201 27 ° =) Right Hand Assembly
= [0}
o2 A
1"
N vy
o
(&) o
— @
A 8 2
A < 3
o
S K2 _
[t} = 8
Ny
A ¥ e

>
»

»

S-2394

Collapsed
4.80
Collapsed

| 7.00
<

3.00
»!

|
1.87 390

8<— 3/4-10 UNC 3 ®
(o]

»

>
»

Collapsed

<€

5.98
Collapsed

<

2.82

<
<

le—1.48
A °
%
g
3 S
o -
ol A
<2
(&)
v 3
A o
@
Yy y
Y
148 — |« Note: 57140-002L 390, 300
Left Hand Assembly ©
57150-002L j 8
Right Hand Assembly o

A

>

A
o °
= &
P q
3 3 a
ol® n —
©§ S v
I3 3 X
o (&)
o o
() o w0
©Q o o
YNy 4
g vy~ ¥

@ Bolt or Stud 1/2-13 % Threaded Hole — 3/8 on Bead Plate, 1/2-13 on Piston & Air Inlet 1/4 NPT
8 Combination Stud/Air Inlet — OD Thread 3/4-16, ID Thread 1/4 NPT € As Noted on Drawing



Dayton Parts,LLC

HHENDRIGKSON

Collapsed

M24 x 1.5 OD
/M16X1.5 ID

METRIC

- Mi2x125

7.63
Collapsed

——M12x1.25

Collapsed

» |l

9.50

|

M20 x 2.5 OD
» M14x1.51D

METRIC

«— M12x1.25

Y

7.63
Collapsed

A4

>
»

10.00

8.14
Collapsed

9.50
< > |«

r‘

3.00@0

——M12x1.75

METRIC

M12 x 1.75

Collapsed

>

9.00

10.00

|

*Mack applications — (50899-002L)

>

22.00

9.00

10.00 |

A\ 4

*
1.49 X
* reuse Mack bracket or enlarge mounting ﬁ 3
holes in included bracket as required. o
Y A
o
Q
° (e}
]
Ja
o v
Q -
© A
o
<
o
4
g y
1.49 —» <— METRIC 5.98
M12 x 1.75

Collépsed

E~— M12x1.75

10.00
e

A4

@ Boltor Stud 1/2-13

% Threaded Hole — 3/8 on Bead Plate, 1/2-13 on Piston
Combination Stud/Air Inlet — OD Thread 3/4-16, ID Thread 1/4 NPT & As Noted on Drawing

&  Air

Inlet 1/4 NPT



EH:JLHENDBIGKSON Dayton Parts, LLC

»|

>
»

o
S
[}
ol
SIS oS L
~IQ
7y A A
N~
3 s 0 9
Yy v v -
v v

»

>
>

S-21800

7.40
20.75
Collapsed

€
<
<€

5.69
| 10.25 |

»

S-20900

7.40
24.75
6.00
Collapsed

r‘

4.74

<€
<

Use S-21800

560
. 1025

»|

J

A o 3
g 15‘6 9_
°
: ) s21966 | 3 |
S 5|2
_ B _ a L |© _
Yy g o
| SNeaEry | %
& R . - 0 ©
g o vy
A

»

N
>0
o

S-23612

S-22948

27.50

8.00
Collapsed

538 |
»l

<
<

|

Y

@ Boltor Stud 1/2-13 % Threaded Hole — 3/8 on Bead Plate, 1/2-13 on Piston & Air Inlet 1/4 NPT
10 Combination Stud/Air Inlet — OD Thread 3/4-16, ID Thread 1/4 NPT € As Noted on Drawing



Dayton Parts, LLC HHE"DBIGKS“"

y v Note: Retaining Strap - DO NOT REMOVE 4.76
<«—— 1/2-20 UNF
® /
'3_@ @1‘ : -
el
$-25873 o2 3 I3
| ® S| S
0= K
[} ~NS
A |© A o
<
~
< @
A | S 3
A <~
\ 4
Y ~— 1/2-13 UNC
A -— 1/2-13 UNC
b3) A
A b
o
22 y 8
6|2 8la
©
o=
A _ ]
<+ A o
~ A
<
Y v e o
= z
A A
y ~—1/2-13 UNC
y <« 172213 UNC
5 / 8
A A o
el
el
$-21784 o2 ) _3
| © g%
0= ;| S
A 8 A “I5
< o
~ A
< 2
A A =} 3 3
- < o
Y y
same as S-20901 with Piston Support Disk — 1/2-20 UNF
A
— } r
b &
A - ©
° g Y
- o} Q —
C-23748 2 :
= =
=) [e}
i - ©
< A
~
< [s2]
y -
e
Y
A
o
A -
e}
2 A
2 3
° [%]
(& A 3
°
(<) (&)
A =]
A
same as C-23748 with Piston Support Disk

@® Boltor Stud 1/2-13 % Threaded Hole — 3/8 on Bead Plate, 1/2-13 on Piston & Air Inlet 1/4 NPT

Combination Stud/Air Inlet — OD Thread 3/4-16, ID Thread 1/4 NPT & As Noted on Drawing 11



HHENDRICKSON

Dayton Parts, LLC

S-11650

>
»

Collapsed

<€

3/4-10 UNC

9.00

|

9.50
S @S
412

v

ot

$-10352

9.50
Collapsed

620 |

<

10.13

Collapsed

>
»

7.90
Collapsed

»|

10.25

[

»

Collapsed

>
»

Collapsed

10.25

>

Collapsed

»

Collapsed

10.25

9.50
Collapsed

10.13

8.00
Collapsed

»!

10.25

A

@ Boltor Stud 1/2-13

% Threaded Hole — 3/8 on Bead Plate, 1/2-13 on Piston
Combination Stud/Air Inlet — OD Thread 3/4-16, ID Thread 1/4 NPT € As Noted on Drawing

& Air Inlet 1/4 NPT



Dayton Parts, LLC HHE"DBIGKS“"

»|

10.38

S-22045

8.00
Collapsed
| 7.30
Collapsed
<

10.25
8.43

|

10.38

S-22046

9.20
Collapsed
7.30
Collapsed

9.38

10.25

10.38

S-22697

Collapsed
>
>
11.50
Collapsed

10.25
10.00

|

A
Y
o °
[} Q
o|e @»
Q.
o8 g
S 3
8] [$)
n
o <\!
N e v
N 2
\
A 3 b
S i}
A - 0
v
B K —
[=37) %]
28 Qo
o|8 <
-3 5
O o y

>

10.25
7.87

=~

N

@ Bolt or Stud 1/2-13 % Threaded Hole — 3/8 on Bead Plate, 1/2-13 on Piston & Air Inlet 1/4 NPT
Combination Stud/Air Inlet — OD Thread 3/4-16, ID Thread 1/4 NPT € As Noted on Drawing 13



HHENDRICKSON

Dayton Parts, LLC

»

Collapsed

10.38

10.25

»

Collapsed

L1131
m77571

11.80

>
>l

8.90
27.25

7.00

11.31

>

Collapsed

<

N L 13

10.25

>

5.50

=~

>

7.88

=

$-24446
O A = A

9.50
Collapsed

S-13122

10.10
Collapsed

»

Collapsed

<€

11.13

Collapsed

11.31

11.50

S-11566

7.10
Collapsed

Remove Supplied Bolt

550 |

14

@ Boltor Stud 1/2-13

% Threaded Hole — 3/8 on Bead Plate, 1/2-13 on Piston

&  Air Inlet 1/4 NPT

Combination Stud/Air Inlet — OD Thread 3/4-16, ID Thread 1/4 NPT & As Noted on Drawing



Dayton Parts, LLC HHE"DBIGKS“"

A
N A i =
kel ©
Q o)
g gld v
Sig
© by
Qe a6 v 5 & (o
A © 5
Same as S-23114 s e
Y

gl
>

11.31

Collapsed
[

Collapsed

»|

10.25
<

l

=l

Collapsed
11.31

Collapsed

10.25
<

|

METRIC

M20 x 2.5 O.D.

B 4 1/4"-18 NPTF 1.D.

>
»

11.31

»

5.60
Collapsed

Collapsed

3.74
11.81

_
350!

11.31

5.70
Collapsed
3.80
Collapsed

11.81

@ Boltor Stud 1/2-13 % Threaded Hole — 3/8 on Bead Plate, 1/2-13 on Piston & Air Inlet 1/4 NPT

Combination Stud/Air Inlet — OD Thread 3/4-16, ID Thread 1/4 NPT & As Noted on Drawing 15



HHENDRICKSON

Dayton Parts, LLC

<
<€

3.00
Collapsed

Collapsed

<

<

Collapsed

Collapsed

€

<
<€

3.50
Collapsed

Collapsed

<

Collapsed

>
>

4.20
Collapsed

<
<

Collapsed

<

Collapsed

|

g

6.20

gl

6.20

<

@® Boltor Stud 1/2-13

Threaded Hole — 3/8 on Bead Plate, 1/2-13 on Piston

& AirInlet 1/4 NPT

16 Combination Stud/Air Inlet — OD Thread 3/4-16, ID Thread 1/4 NPT & As Noted on Drawing



Dayton Parts, LLC HHE"DBIGKS“"

METRIC 175

A
(2)M10x 1.5
\ v ) _ _
g A & 3
© [s2]
. v
: 003318 ) - !
© Q
3 s
o 8
' 2 g : ' 5 '3
- Lw © 7«5
(@) M10x15

=1
=1

l275

Collapsed
Collapsed

|

gl
gl

Collapsed
Collapsed

|-

A »
. 3
- 7(’0
[0}
kel
] 58
© o
s o
o
R:0 W~ o
o
Use S-5270 L
r _ 70
) i
. y
©
s «
(&) Ke)
(]
A o
2 y

@ Bolt or Stud 1/2-13 4 Threaded Hole — 3/8 on Bead Plate, 1/2-13 on Piston & Air Inlet 1/4 NPT
Combination Stud/Air Inlet — OD Thread 3/4-16, ID Thread 1/4 NPT & As Noted on Drawing 17



EH:JLHENDBIGKSON Dayton Parts, LLC

>
»

3.70
Collapsed
4.60
Collapsed

9.00
6.20

»

Collapsed
Collapsed

11.31

>

A,

METRIC

A

11.25

Collapsed

.00

11.31

(o]
~(4) M10x 1.5
Y

<€

Y

-
®
A -
°
o)
« &
Q
= 8
S
o
— o
[s2] o
A = =
=
Y
A
5 u ,
A
A pa 8 3
e 6
- v
[0} el
17 Q Y
5 2 -
= ©
o =
o Q y
(&) A
b Y
[o]
Y - ® &
-~ o
= ©
4 v
A N

@ Bolt or Stud 1/2-13 % Threaded Hole — 3/8 on Bead Plate, 1/2-13 on Piston & Air Inlet 1/4 NPT
18 Combination Stud/Air Inlet — OD Thread 3/4-16, ID Thread 1/4 NPT & As Noted on Drawing



Dayton Parts, LLC HHE"DBIGKS“"

>

11.31

7.75

=

Collapsed
4.80
Collapsed

11.31
11.31

4.80
Collapsed

4.80
Collapsed

6.30
Collapsed

11.31

5.50 !

<

Collapsed

@® Boltor Stud 1/2-13 % Threaded Hole — 3/8 on Bead Plate, 1/2-13 on Piston & Air Inlet 1/4 NPT

Combination Stud/Air Inlet — OD Thread 3/4-16, ID Thread 1/4 NPT €& As Noted on Drawing 19



HHENDRICKSON

Dayton Parts, LLC

Numeric Listing

Numeric Listing

Numeric Listing

Part Page Part Page Part Page
No. No. No. No. No. No.
001015 18 B-7853 19 S-23114 15
001347 17 B-8701 17 S-23611 10
001475 16 B-8874 19 S-23612 10
001503 16 C-23748 11 S-23613 10
001795 19 C-25559 7 S-23614 10
001796 16 S-1013 18 S-23720 10
002348 19 S-10170 16 S-23721 10
002878 15 S-10352 12 S-2394 8
003316 18 S-1080 18 S-24443 11
003317 15 S-11566 14 S-24445 14
003318 17 S-11650 12 S-24446 14
45843-001L 17 S-12335 16 S-25319 14
49048-002L 11 S-12353 12 S-25871 13
50405-002L 11 S-1245 12 S-25872 14
50898-002L 9 S-13122 14 S-25873 11
56808-002L 8 S-1345 16 S-2694 12
56917-002L 8 S-14147 11 S-2734 18
57122-002L 9 S-14249 13 S-2827 12
57140-002L 8 S-20010 7 S-2924 13
57150-002L 8 S-20124 7 S-3184 18
57920-002L 7 S-20127 8 S-3411 12
57965-002L 7 S-20217 7 S-3467 14
58520-002L 9 S-20223 7 S-3648 15
58541-002L 9 S-20413 7 S-3798 16
58817-002L 9 S-20414 7 S-3830 13
58995-002L 9 S-2063 15 S-3839 15
59010-002L 9 S-2064 8 S-3842 13
59031-002L 8 S-2065 15 S-4375 13
59055-002L 9 S-2066 12 S-4771 14
59484-002L 8 S-20716 7 S-4773 12
59601-002L 8 S-20900 10 S-5270 17
59861-002L 9 S-20901 11 S-5468 16
60666-002L 9 S-21208 15 S-6195 12
B-1159 16 S-21323 15 S-6242 16
B-11637 18 S-21784 11 S-6412 17
B-12405 18 S-21800 10 S-6861 19
B-14318 17 S-21966 10 S-7193 11
B-14395 17 S-22045 13 S-7364 11
B-14486 15 S-22046 13 S-8768 17
B-14487 18 S-22173 14 S-8988 13
B-2630 17 S-22697 13 S-9001 14
B-7100 19 S-22948 10 S-9830 18

20



